

Introduction O	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts	Introduction O	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts		
Eliminating the Left Recursion					Mutual Recursions!				
We can rewrite these grammars $ \begin{array}{l} E \to E +  i\\ B \to Bxy  Bz q r\\ using the following transformation:\\ \end{array} $ Productions of the form $S \to \beta$ become $S \to \beta S'$ . Productions of the form $S \to S\alpha$ become $S' \to \alpha S'$ . Add $S' \to \epsilon$ . $E \to iE'\\ Result: \begin{array}{l} E' \to +E'  \epsilon\\ B \to qB' rB'\\ B' \to xyB' zB' \epsilon\end{array} $		Things are slightly more complicated if we have mutual recursions. $A \rightarrow Aa \mid Bb \mid Cc \mid q$ $B \rightarrow Ax \mid By \mid Cz \mid rA$ $C \rightarrow Ai \mid Bj \mid Ck \mid sB$ How to do it: Take the first symbol (A) and eliminate immediate left recursion.							
			<□><酉><≅><≷>>< ₹ > < ₹ > < ₹ > < ₹ >	<ul> <li>Take the second symbol (B) and substitute left recursions to A. Then eliminate immediate left recursion in B.</li> <li>Take the third symbol (C) and substitute left recursions to A and B. Then eliminate immediate left recursion in C.</li> </ul>					
Introduction	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts	Introduction	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts		

0

## Left Recursion Example

## Left Recursion Example, 2

00000000000

Here is a more complex left recursion.						
$A \rightarrow Aa \mid Bb \mid Cc \mid q$						
$B  ightarrow Ax \mid By \mid Cz \mid rA$						
$C  ightarrow Ai \mid Bj \mid Ck \mid sB$						
First we eliminate the left recursion from A.						
${\cal A}  ightarrow {\cal A}$ a   Bb   Cc   q						
This is the result:						

0000000000

00

$$A 
ightarrow BbA' \mid CcA' \mid qA'$$
  
 $A' 
ightarrow aA' \mid \epsilon$ 

We substituting in the new definition of A, and now we will work on the B productions.  $A \rightarrow BbA' \mid CcA' \mid qA'$   $A' \rightarrow aA' \mid \epsilon$   $B \rightarrow Ax \mid By \mid Cz \mid rA$   $C \rightarrow Ai \mid Bj \mid Ck \mid sB$ First, we eliminate the "backward" recursion from B to A. Start:  $B \rightarrow Ax$ Result:  $B \rightarrow BbA'x \mid CcA'x \mid qA'x$ 

00

00

00

Introduction O	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts	Introduction O	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts 00		
				$C \rightarrow BbA'   CcA'   qA'$ $A \rightarrow BbA'   CcA'   qA'$ $A' \rightarrow aA'   \epsilon$ $B \rightarrow CcA'xB'   qA'xB'   CzB'   rAB'$ $B' \rightarrow bA'xB'   yB'   \epsilon$ $C \rightarrow Ai   Bj   Ck   sB$ Now production C: First, replace left recursive calls to A $C \rightarrow B bA'i   CcA'i   qA'i   Bj   Ck   sB$ Next, replace left recursive calls to B (this gets messy) $C \rightarrow CcA'xB' bA'i   qA'xB' bA'i   CzB' bA'i   rAB' bA'i   CcA'xB' bA'i   rAB' bA'i   CcA'xB' j   qA'xB' j   CzB' j   rAB' j$					
		4 D > 4	団 > < E > < E > E のQで	Cc.	A'i   qA'i   Ck   sB	< 🗆	◇ < 舂 > < 言 > < 言 > < 言 > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <		
Introduction O	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts	Introduction O	Eliminating Left Recursion	Eliminating Common Prefixes	FIRST/FOLLOW conflicts		
Left Recursion E	xample, 5			The Result Our final gr	rammar:				
Reorganizing C, we have: $C \rightarrow qA'xB'bA'i   rAB'bA'i   qA'xB'j   rAB'j   qA'i   sB$ $CcA'xB'bA'i   CzB'bA'i   CcA'xB'j   CzB'j   CcA'i   Ck$ $C \rightarrow qA'xB'bA'iC'   rAB'bA'iC'   qA'xB'jC'$ $  rAB'jC'   qA'iC'   sBC'$ Eliminating left recursion gives us: $C' \rightarrow cA'xB'bA'iC'   zB'bA'iC'   cA'xB'jC'$ $  zB'jC'   cA'iC'   kC'   \epsilon$					$\begin{array}{l} A \rightarrow BbA' \mid CcA' \mid qA' \\ A' \rightarrow aA' \mid \epsilon \\ B \rightarrow CcA'xB' \mid qA'xB' \mid CzB' \mid rAB' \\ B' \rightarrow bA'xB' \mid yB' \mid \epsilon \\ C \rightarrow qA'xB'bA'iC' \mid rAB'bA'iC' \mid qA'xB'jC' \\ \mid rAB'jC' \mid qA'iC' \mid sBC' \\ C' \rightarrow cA'xB'bA'iC' \mid zB'bA'iC' \mid cA'xB'jC' \\ \mid zB'jC' \mid cA'iC' \mid kC' \mid \epsilon \end{array}$				
					Beautiful, isn't it? I wonder why we don't do this more often?				

• Disclaimer: If there is a cycle  $(A \rightarrow^+ A)$  or an epsilon production  $(A \rightarrow \epsilon)$  then this technique is not guaranteed to work.

